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NE: BASE CAIXH(DS/BY - NDS)
el Bdsis=Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A 2.100
01 HEH] 3,000 3,000
O(E) =S SHE NIZSY U 3,000
—aE e T 50,0002 52« 127} 3,000
< 900
A 2,100
201 LerEd 6,000 6,000
< 1,800
A 4,200
14 IR A S 6,000 6,000
O(E) M= SHE IZSY T 6,000
—sEsE Ml MY
0002142A| 253031 22 6,000
< 1,800
A 4,200
307 D120 A 70,000 70,000
< 21,000
A 49,000
(2 DA AN G R E 70,000 70,000
O(E)4o2HDRTZ I XV
20,000, 00024141 20,000
< 6,000
A 14,000
O(S)MEIE HAHS KR SA5 Al
20,000, 00021 14! 20,000
< 6,000
A 14,000
O(E)BMsas 22l o1 X2 Al
20,000, 00021141 20,000
< 6,000
A 14,000
O(E)BMDS ST LAXIY AL
10,000,000+ 14 10,000
< 3,000
A 7,000
(2)ZNUTE DSOS (B )N 11,901 11,901
= 8,33
< 1,071
A 2,50
308 KX EHHIS OIS 11,901 11,901
2 8,33
< 1,071
A 2,500
18 B HSU S LRSS AR 17,901 17,901




SA: SISt

¥ gdsts TAZE(RF/BY - AYNR)
el dstssy (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZHAEMW=RO0|22 (BIRH )X
11,901,000 » 14 11,901
= 8,330
[ 1,071
Al 2,500
gdstsAtg 281,820 229,260 52,560
A= 281,820 229,260 52,560
201 Ler=23 | 15,960 13,440 2,520
01 At2teltl 11,660 9,140 2,520
OAlgInsE SADI(HE) =l
1,000,000 *1CH 1,000
OANgWEEE W U R
5,000 x20E*15 t=+13] 1,500
OAns2d s+A (WSS, WA S)
60,0003 100K A +43] 2,400
OAlZlE S2CIER M
3002 +3,0000H*43] 3,600
OZU0IZdHL B2 =% HA
60,0003 *6 I 2-*62] 2,160
OAZIWS =22 A A
1,000& 1,0000H 1,000
02 S3=4gl 4,300 4,300 0
OAlgINEE JIT =2l & EH
200,000 +10CH =23 4,000
ONSE WIZHE 22|
300,000& %12 300
206 M=l 24,420 18,780 5,640
01 MHZH| 24,420 18,780 5,640
OANEU=E 245 Mg 2L 15,420
—LPG JtA 40,0002 x35+43] 480
—NELHS 40,0003 #25 0t =+22 2,000
—Qola A58 EIl S
50,0003 122 S+6S 3,600
—01E2& Ws JIAHY
50,0002 *55+6H 1,500
~ZFeld HAR
10,0002 65+ 1004 600
—Z=320[8t &5 20,000 551004 1,000
—SHaEtt &g 40,0002 x6S+6H 1,440
—L=0Ee 5
40,0002 * 125+ 10K 4,800
O&UoIZdAE Mz 7
50,0002 x15E %122 9,000
301 LELEE S 241,440 191,040 50,400
14 JIEt2d=3 241,440 191,040 50,400
OAMB WS F2H2AA =8 184,320
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Chel: BMSESAIY (SH &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
—AS, 22l 2
40,0003 * 1204 +3A| 204322 <23 92,160
— 280z 2%
40,0003 x 102t S#2A1 2H32 2 %23 51,200
—ol2mer A%
40,0003 8t S+2 A 232 #23] 40,960
OAlgl W= OF2t & F=EHAL =& 55,680
~XAE A
40,0002 *3H=+3A| 224 2 23| 17,280
—2st0s 2
40,0003 x20 0t S#2A[ 2H 122 %23 38,400
OJUI0IZ2cHA 2A =5
40,0003 *3A| 2+ 122 1,440
ST #F 2 2E(US/ROIXESSNS) 921,053 1,114,417 193,364
= 11,046
Al 910,007
A& 29 921,053 1,114,417 193,364
< 11,046
Al 910,007
StEEM2 2 387,459 505,485 118,026
101 e124d| 96,290 70,520 25,770
04 JIZtNZ2 2N sSE+ 96,290 70,520 25,770
OotZeAM2 Iea 2 2X 22y 96,290
—Jl2= 80,2403 x4 242 77,673
—F5+d 80,2402 x4 *47L 15,086
— Xt 80,2402 4 * 11 3,531
201 LBt 248,169 220,665 27,504
01 AtR2telbl 154,957 130,653 24,304
Ootg M2 Ies 2 9,060
—Azd 2823 7Y
500,000 =122 6,000
—RFID Bi0 & SIS 7Y
2,000,000& %14 2,000
—=SAD EH 7Y
200,000 =4 JH+1CH 800
— =4 PC =2l 100,000 *13CH*20% 260
OotY = A2 HARz2te 76,981
—dA8BEF 7Y 1,000,000& 14 1,000
—sE4 SEX FY
46,0002 102 A+ 122 5,520
=X ZEH & 2(750)
1,470 +1501+3652 8,049
—&d=01 ¥ BIEE)| sX2
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— A HSE A5 270,000& =128 3,240
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- B QY AJH 8., 100,0002!+8% 648
- BHQY TAPE | 20,691,002 *8% 1,656
- UPS 5,375,000 10%10/ 128 448
I NESET 25,200,00021*10% 2,50
HOIH S RERIEHAI AL
27.,600,00024*10% 2,760
IEEE B2M
22,440,002 *10% 2,244
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19,778,002 10% 1,978
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